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	Reason for change:
	During the activation of Secondary PDP with the AT command AT+CGTFT =2,1,1…, inside the test steps ts_AT_SecondaryPDP_ContextInteractiveOrBckgrnd and ts_AT_SecondaryPDP_Context at lt_AssignAT_TFT_Cmd command is incorrectly implemented. In this AT command, “48” is a protocol and "65435.65535" and "65235.65335" are port ranges, to be able to read port numbers, IP protocol must be either 6 (TCP) or 17 (UDP). Since the protocol is 48 (dynamic source routing protocol), there would never be any IP packet which could match to this filter (because ports cannot be obtained if protocol is 48).The filter is semantically incorrect.
In 3GPP 24.008, in chapter 6.1.3.2.3: “When a packet filter consists of conflicting packet filter components which would render the packet filter ineffective, i.e. no IP packet will ever fit this packet filter. How the network determines a semantic error in a packet filter is outside the scope of the present document”



	
	

	Summary of change:
	Changed local test step lt_AssignAT_TFT_Cmd in test case 8.2.2.35.

	
	

	Consequences if not approved:
	UE may fail the test when activating Secondary PDP Context.
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	Other comments:
	


1 Corrections to 8.2.2.35
1.1 Testcase 8.2.2.35
	Object name 
	lt_AssignAT_TFT_Cmd

	Reason for change
	During the activation of Secondary PDP with the AT command AT+CGTFT =2,1,1…, inside the test steps ts_AT_SecondaryPDP_ContextInteractiveOrBckgrnd and ts_AT_SecondaryPDP_Context at lt_AssignAT_TFT_Cmd command is incorrectly implemented. In this AT command, “48” is a protocol and "65435.65535" and "65235.65335" are port ranges, to be able to read port numbers, IP protocol must be either 6 (TCP) or 17 (UDP). Since the protocol is 48 (dynamic source routing protocol), there would never be any IP packet which could match to this filter (because ports cannot be obtained if protocol is 48).The filter is semantically incorrect.



	Summary of change
	Changed local test step lt_AssignAT_TFT_Cmd in test case 8.2.2.35.

	Source of change
	Modification.
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